Hand Car

REV.05070]1



Hand Car

CarParts

$Price
Name and Number Part # Per Unit
1.)  Shell ( black) D-4200001] *25.00
1.)  Shell ( Tuscan red ) D-42000024 *25.00
1.)  Shell (CNW green ) D-420000 *25.00

|

( Christmas )

1.)  Shell ( green) *25.00
( Maintenance Of Way )

2.) Figure ( large white man ) 6.00
( olive jacket and gray pants )

2.) Figure ( large white man ) 6.00
( olive jacket and blue pants )

2.) Figure ( Santa ) FD-4200009 6.00

3.) Figure ( small white man ) FD-4200004 6.00
( gray overalls and blue hat )

3.) Figure ( small white man ) 6.00
( blue overalls and red hat )

3.) Figure (ElIf) 6.00

3.) Figure ( small black man) 6.00
( blue overalls and dark blue hat )

4.)  Screw 0.15
( M3x10.0mm )( roundhead )( self-drilling )

5.) Screw 0.15
( M2.4x3.0mm )( slotted head )( large head )

6.) Screw 0.15
(4/40x6.0mm )( roundhead )

7.) Boards 10.00
( switch and bridge rectifier )

8.) Screw 0.15
( M3x6.0mm )( roundhead )

9.) Reverse mechanism arm 3.00
( black )( short )( plastic)

10.) Spring ( nickel ) 0.50

(5.0x12.0mm )( w/ 0.2mm thick wire )

11.) Insulator (pick-up)(top)(square) BD-0000047 2.00

12.) Lever FD-4200011 3.00

13.) Screw ( M2.4x4.0mm ) A-0000124 0.15
(w/ 3.0x2.0mm oversized shank )( slotted large head )

14.) Screw 0.15
( M2x5.0mm )( roundhead )

15.) Screw ( nickel) 0.15
(4/40x4.0mm )( roundhead )

16.) Gear box cover ( black ) 3.00

17.) Motor 12.00
( FK-130SH )( w/ 6.8x11.0mm worm gear )

18.) Reverse mechanism arm 4.00
( black )( long )( plastic )

19.) Truck ( black) *30.00
( powered )( 2 axle )

20.) Insulator 2.00
( pick-up )( bottom )( plastic )

21.) Nut ( nickel ) 0.50
(2.5x5.0x7.0mm )

22.) Pick-up 10.00
(two rollers )( 8.0x10.7mm roller )( 67.0mm long )

23.) Screw ( nickel ) 0.15

( M3x6.0mm )( roundhead )

*Requires Exchange
All parts are priced as each



www.mthtrains.com/part/FD-4200001
www.mthtrains.com/part/FD-4200002
www.mthtrains.com/part/FD-4200003
www.mthtrains.com/part/FD-4200016
www.mthtrains.com/part/FD-4200007
www.mthtrains.com/part/FD-4200008
www.mthtrains.com/part/FD-4200009
www.mthtrains.com/part/FD-4200004
www.mthtrains.com/part/FD-4200005
www.mthtrains.com/part/FD-4200006
www.mthtrains.com/part/FD-4200017
www.mthtrains.com/part/IA-0000057
www.mthtrains.com/part/IA-0000123
www.mthtrains.com/part/IA-0000003
www.mthtrains.com/part/BB-0000017
www.mthtrains.com/part/IA-0000016
www.mthtrains.com/part/FD-4200010
www.mthtrains.com/part/IE-0000032
www.mthtrains.com/part/BD-0000047
www.mthtrains.com/part/FD-4200011
www.mthtrains.com/part/IA-0000124
www.mthtrains.com/part/IA-0000076
www.mthtrains.com/part/IA-0000037
www.mthtrains.com/part/BI-0000032
www.mthtrains.com/part/BE-0000042
www.mthtrains.com/part/FD-4200012
www.mthtrains.com/part/DA-4200001
www.mthtrains.com/part/BD-0000001
www.mthtrains.com/part/IC-0000008
www.mthtrains.com/part/BD-0000049
www.mthtrains.com/part/IA-0000015

Hand Car
Car Paris



	Page 1
	Page 2
	Page 3

